#define ERR_CODENUM 42.00420042

#define ERR_WTF 901

#define ERR_UNKNOWN 902

#define ERR_BRACKET 903

#define ERR_FNXRIGHTNUM 904

#define ERR_FNNORIGHTNUM 905

#define ERR_XLEFTNUM 906

#define ERR_NOLEFTNUM 907

#define ERR_XRIGHTNUM 908

#define ERR_NORIGHTNUM 909

#define ERR_NUMINOP 910

#define ERR_VARINOP 911

#define ERR_OPINNUM 912

#define ERR_NOTLEFTVALUE 913

long MacroCommand(char *cmd)

{


char mc;


char dummy[100];


int i,j;


float f;


mc=cmd[0];


switch(mc)


{

//microscope function



case 'A':



{




sscanf(cmd,"A %d",&i);




if(i<100)





i=0;




SendMessage(fv10h[FV_ACQ],BM_CLICK,0,0);




f=ReadTime(); // ###### az elozo idot olvassa! focus...




i+=(int)(f*1000)+2500+rmspeed;




sprintf(dummy,"Acq. S:%.1f, time:%d ms",f,i);




PrintLog(dummy);




return i; //felhasznalo korrekcioja (pl bleach) + ki kell varni a kepfelvetel utani regeneraciot + normal szunet



}



case 'M':



{




sscanf(cmd,"M %s %d %d",dummy,&i,&j);




if(!strcmp(dummy,"laserpower"))




{





sscanf(cmd,"M %s %d %f",dummy,&i,&f);





if(SetPower(i, f)==FN_LASERNOTFOUND)





{






sprintf(dummy,"Laser (%d nm) not found!",i);






PrintLogEx(PL_W_COMMAND,dummy);





}




}




else if(!strcmp(dummy,"blaserpower"))




{





sscanf(cmd,"M %s %d %f",dummy,&i,&f);





if(SetBleachPower(i, f)==FN_LASERNOTFOUND)





{






sprintf(dummy,"Bleach laser (%d nm) not found!",i);






PrintLogEx(PL_W_COMMAND,dummy);





}




}




else if(!strcmp(dummy,"lasersoff"))




{





SetPower(1, 0);





SetPower(2, 0);





SetPower(3, 0);





SetPower(4, 0);





SetPower(5, 0);




}




else if(!strcmp(dummy,"blasersoff"))




{





SetBleachPower(1, 0);





SetBleachPower(2, 0);





SetBleachPower(3, 0);





SetBleachPower(4, 0);





SetBleachPower(5, 0);




}




else if(!strcmp(dummy,"hvchs1"))





SetHVCHS1(i);




else if(!strcmp(dummy,"hvchs2"))





SetHVCHS2(i);




else if(!strcmp(dummy,"wlchs1"))





SetCHS1(i, j);




else if(!strcmp(dummy,"wlchs2"))





SetCHS2(i, j);




else if(!strcmp(dummy,"prepacq"))




{





SendMessage(fv10h[FV_XYREP],BM_CLICK,0,0);





SetTimer(maindlg,TM_PREPACQ,PREPACQ,NULL);





return rmspeed+PREPACQ+2000;




}




else




{





sprintf(dummy,"Unknown M command!! %s",cmd);





PrintLogEx(PL_E_COMMAND,dummy);




}




break;



}



case 'P':



{




sscanf(cmd,"P %s %d",dummy,&i);




if(!strcmp(dummy,"absx"))





SetPanx(i);




else if(!strcmp(dummy,"absy"))





SetPany(i);




else if(!strcmp(dummy,"relx"))





SetPanx(i+GetPanx());




else if(!strcmp(dummy,"rely"))





SetPany(i+GetPany());




else if(!strcmp(dummy,"setunit"))




{





if(i>0)






panunit=i;




}




else if(!strcmp(dummy,"autosetunit"))




{





panunit=(int)(1200.0/GetZoom());





if(i>0)






panunit*=i/100;





sprintf(dummy,"Pan unit (window size): %d",panunit);





PrintLogEx(PL_I_COMMAND,dummy);




}




else if(!strcmp(dummy,"uabsx"))





SetPanx(i*panunit);




else if(!strcmp(dummy,"uabsy"))





SetPany(i*panunit);




else if(!strcmp(dummy,"urelx"))





SetPanx(i*panunit+GetPanx());




else if(!strcmp(dummy,"urely"))





SetPany(i*panunit+GetPany());




else if(!strcmp(dummy,"tile"))




{





if(i>=0 && i<=80)





{






SetPanx(pantilex[i]*panunit);






SetPany(pantiley[i]*panunit);





}




}




else if(!strcmp(dummy,"stile"))




{





if(i>=0 && i<=24)





{






SetPanx(panstilex[i]*panunit);






SetPany(panstiley[i]*panunit);





}




}




else if(!strcmp(dummy,"starttile"))




{





currtile=0;





SetPanx(pantilex[currtile]*panunit);





SetPany(pantiley[currtile]*panunit);




}




else if(!strcmp(dummy,"nexttile"))




{





if(++currtile>=0 && currtile<=80)





{






SetPanx(pantilex[currtile]*panunit);






SetPany(pantiley[currtile]*panunit);






sprintf(dummy,"tile ndx: %d x:%d y:%d",currtile,pantilex[currtile],pantiley[currtile]);






PrintLogEx(PL_I_COMMAND,dummy);





}




}




else if(!strcmp(dummy,"nextstile"))




{





if(++currtile>=0 && currtile<=24)





{






SetPanx(panstilex[currtile]*panunit);






SetPany(panstiley[currtile]*panunit);






sprintf(dummy,"shuffled tile ndx: %d x:%d y:%d",currtile,panstilex[currtile],panstiley[currtile]);






PrintLogEx(PL_I_COMMAND,dummy);





}




}




else if(!strcmp(dummy,"zoom"))




{





sscanf(cmd,"P %s %f",dummy,&f);





if(f>=1 && f<=50)





{






SetZoom(f);






sprintf(dummy,"Zoom is: %.1f",f);






PrintLogEx(PL_I_COMMAND,dummy);





}





else





{






sprintf(dummy,"Invalid zoom value (%.1f)!",f);






PrintLogEx(PL_E_COMMAND,dummy);





}




}




else if(!strcmp(dummy,"zoomin"))




{





double oldzoom,oldzoomi;





int newzoomi;





oldzoom=GetZoom();





oldzoomi=FindZoom(oldzoom);





if(oldzoomi<zoommax)





{






newzoomi=(int)(oldzoomi+1);






SetZoom(zooms[newzoomi]);






sprintf(dummy,"Zoom in: %.1f -> %.2f",oldzoom,zooms[newzoomi]);






PrintLogEx(PL_I_COMMAND,dummy);





}





else





{






sprintf(dummy,"Maximal zoom (%.1f) reached! (current: %.1f)",zooms[zoommax],oldzoom);






PrintLogEx(PL_W_COMMAND,dummy);





}




}




else if(!strcmp(dummy,"zoomout"))




{ 





double oldzoom,oldzoomi;





int newzoomi;





oldzoom=GetZoom();





oldzoomi=FindZoom(oldzoom);






if(oldzoomi>0)






{







newzoomi=(int)(oldzoomi-1);







SetZoom(zooms[newzoomi]);







sprintf(dummy,"Zoom out: %.1f -> %.1f",oldzoom,zooms[newzoomi]);







PrintLogEx(PL_I_COMMAND,dummy);






}






else






{







sprintf(dummy,"Minimal zoom (%.1f) reached! (current: %.1f)",zooms[0],oldzoom);







PrintLogEx(PL_W_COMMAND,dummy);






}




}




else




{





sprintf(dummy,"Unknown P parameter!! %s",cmd); // ##### ide nem dummy kene???





PrintLogEx(PL_E_COMMAND,dummy);




}




break;



}



case 'U':



{




sscanf(cmd,"U %s %d %d",dummy,&i,&j);




if(!strcmp(dummy,"chl"))




{





SetPower(1, 0);





SetPower(2, 0);





SetPower(3, 0);





SetPower(4, 0);





SetPower(5, 0);





SetPower(488, 10);





for(i=0;i<1000;i++);





SetCHS2(690, 100);




}




else if(!strcmp(dummy,"pbs"))




{





SetPower(1, 0);





SetPower(2, 0);





SetPower(3, 0);





SetPower(4, 0);





SetPower(5, 0);





SetPower(635, .1);





for(i=0;i<1000;i++);





SetCHS2(650, 30);




}




else if(!strcmp(dummy,"ad_yfpchl"))




{





SetPower(1, 0);





SetPower(2, 0);





SetPower(3, 0);





SetPower(4, 0);





SetPower(5, 0);





SetPower(488, 10);





for(i=0;i<1000;i++);





SetCHS1(530, 20);





SetCHS2(690, 100);





for(i=0;i<1000;i++);





SetHVCHS2(813);





SetHVCHS1(854);




}




else if(!strcmp(dummy,"ad_pbs"))




{





SetPower(1, 0);





SetPower(2, 0);





SetPower(3, 0);





SetPower(4, 0);





SetPower(5, 0);





SetPower(635, .5);





for(i=0;i<1000;i++);





SetCHS1(450, 1);





SetCHS2(650, 30);





for(i=0;i<1000;i++);





SetHVCHS2(679);





SetHVCHS1(300);




}




else if(!strcmp(dummy,"lt_psi"))




{





SetPower(1, 0);





SetPower(2, 0);





SetPower(3, 0);





SetPower(4, 0);





SetPower(5, 0);





SetPower(488, 10);





for(i=0;i<1000;i++);





SetCHS1(710, 40);





for(i=0;i<1000;i++);





SetHVCHS1(682);




}




else if(!strcmp(dummy,"lt_psii"))




{





SetPower(1, 0);





SetPower(2, 0);





SetPower(3, 0);





SetPower(4, 0);





SetPower(5, 0);





SetPower(488, 10);





for(i=0;i<1000;i++);





SetCHS1(690, 15);





for(i=0;i<1000;i++);





SetHVCHS1(682);




}




else if(!strcmp(dummy,"lt_pbs"))




{





SetPower(1, 0);





SetPower(2, 0);





SetPower(3, 0);





SetPower(4, 0);





SetPower(5, 0);





SetPower(635, .5);





for(i=0;i<1000;i++);





SetCHS1(650, 30);





for(i=0;i<1000;i++);





SetHVCHS1(512);




}




else




{





sprintf(dummy,"Unknown U parameter!! %s",cmd); // ##### ide nem dummy kene???





PrintLogEx(PL_E_COMMAND,dummy);




}




break;



}

// misc functions



case '#':



case ';':



case '\r':



case '\n':




return 100;



case 'B':



{




sscanf(cmd,"B %s",dummy,&i);




if(!strcmp(dummy,"long"))





Beep(440,1500);




else if(!strcmp(dummy,"short"))





Beep(440,200);




else if(!strcmp(dummy,"ding"))





MessageBeep(MB_OK);




else if(!strcmp(dummy,"question"))





MessageBeep(MB_ICONQUESTION);




else if(!strcmp(dummy,"error"))





MessageBeep(MB_ICONERROR);




else if(!strcmp(dummy,"end"))




{





Beep(440,500);





Beep(440,500);





Beep(440,500);




}




else




{





sscanf(cmd,"B %d %d",&i,&j);





Beep(i,j);




}




return 100;



}



case 'L':



{




sscanf(cmd,"L %s",dummy);




if(!strcmp(dummy,"<newline>"))




{





PrintLog(" ");




}




else if(!strcmp(dummy,"<clear>"))




{






ListBox_ResetContent(hlist_log);




}




else if(!strcmp(dummy,"<calc>"))




{





char result[100];





sscanf(cmd,"L <calc> %s",dummy);





sprintf(result,"Result: %.1f",Calc(dummy));






if(calcerror)






{







TranslateError(calcerror,result);







PrintLogEx(PL_E_CALC,result);






}






else







PrintLog(result);




}




else if(!strcmp(dummy,"<calc_>"))




{





char result[100];





sscanf(cmd,"L <calc_> %s",dummy);





sprintf(result,"Result: %.1f",Calc(dummy));






if(calcerror)






{







TranslateError(calcerror,result);







PrintLogEx(PL_E_CALC,result);






}




}




else




{





PrintLog(&(cmd[2])); // az volt az utasitas, hogy irjon :-)




}




return 100;



}



case 'S':



{




sscanf(cmd,"S %d",&i);




if(i==0)




{





sscanf(cmd,"S %s",dummy);





if(!strcmp(dummy,"teston"))





{






rmspeed=rmslow;






PrintLogEx(PL_I_COMMAND,"Test mode");






return 100;





}





else if(!strcmp(dummy,"testoff"))





{






rmspeed=rmfast;






PrintLogEx(PL_I_COMMAND,"Normal mode");






return 100;





}





else if(!strcmp(dummy,"starttimer"))





{






startms=GetTickCount();






return 100;





}





else





{






sprintf(dummy,"Unknown S parameter!! %s",cmd);  // ##### ide nem dummy kene???






PrintLogEx(PL_E_COMMAND,dummy);





}




}




else if(i<100)





return 100;




else if(rmspeed==rmfast) //normal mode




{





rmspeed=i;





rmfast=i;





return 100;




}




else




{





rmfast=i;





return 100;




}




break;



}



case 'Q':




return FN_MACROQUIT;



case 'W':



{




if(cmd[1]=='s') 




{





sscanf(cmd,"Ws %d",&i);





if(i>0)






return i*1000;




}




else if(cmd[1]=='m') 




{





sscanf(cmd,"Wm %d",&i);





if(i>0)






return i*60000;




}




else




{





sscanf(cmd,"W %d",&i);





if(i>9)






return i;




}




break;



}



default:




sprintf(dummy,"Unknown command!! %s",cmd);




PrintLogEx(PL_E_COMMAND,dummy);




return 100;


}


return rmspeed;

}

double Calc(char *in)

{


int i,j=0,k,maxitems,op;


char dummy[100];


char items[100][100];


double m1,m2,m3;


calcerror=0;


for(i=0;i<100;i++)



items[i][0]='\0';


//szettordelem a stringet objektumokra


for(i=0;i<(int)strlen(in);)  // i++ : atugorja a separatort   ures 3. mezo: nem ugorja a szeparatort (nincs separator :-))


{



i+=GetItem(in,i,dummy);



if(calcerror)




return calcerror;



strcpy(items[j],dummy);



if(items[j][0]=='U')




return (calcerror=ERR_UNKNOWN);



if(items[j][0]=='B')




return (calcerror=ERR_BRACKET);



j++;


}


maxitems=j;


//sorraveszem az objektumokat es megoldom :-)

    // =


for(i=0;i<maxitems;i++)



if(items[i][0]!='W')




break;


if(items[i][0]=='V')


{



for(j=i+1;j<maxitems;j++)




if(items[j][0]!='W')





break;



if(items[j][0]=='L')



{




SetVar(&(items[i][1]),atof(&(items[j][1])));




return GetVar(&(items[i][1]));



}




}


for(i=0;i<maxitems;i++)



if(items[i][0]=='L')




return (calcerror=ERR_NOTLEFTVALUE);

    // FN


for(i=maxitems-2;i>=0;i--)


{



if(items[i][0]=='F')



{




m2=ERR_CODENUM;




for(k=i+1;k<maxitems;k++)




{





if(items[k][0]=='W')






continue;





if(items[k][0]=='N')





{






m2=atof(&(items[k][1]));






items[k][0]='W';






items[k][1]='\0';






break;





}





else if(items[k][0]=='V')





{






m2=GetVar(&(items[k][1]));






items[k][0]='W';






items[k][1]='\0';






break;





}





else






return (calcerror=ERR_FNXRIGHTNUM);




}




if(m2==ERR_CODENUM)





return (calcerror=ERR_FNNORIGHTNUM);



if(!strcmp(&(items[i][1]),"abs"))




m3=(m2<0?-m2:m2);



else if(!strcmp(&(items[i][1]),"sin"))




m3=sin(m2*3.1415927/180);



else if(!strcmp(&(items[i][1]),"cos"))




m3=cos(m2*3.1415927/180);



else if(!strcmp(&(items[i][1]),"asin"))




m3=asin(m2)/3.1415927*180;



else if(!strcmp(&(items[i][1]),"acos"))




m3=acos(m2)/3.1415927*180;



else if(!strcmp(&(items[i][1]),"tan"))




m3=tan(m2*3.1415927/180);



else if(!strcmp(&(items[i][1]),"atan"))




m3=atan(m2)/3.1415927*180;



else if(!strcmp(&(items[i][1]),"exp"))




m3=exp(m2);



else if(!strcmp(&(items[i][1]),"log"))




m3=log(m2);



else if(!strcmp(&(items[i][1]),"log10"))




m3=log10(m2);



else if(!strcmp(&(items[i][1]),"log2"))




m3=log2(m2);



else




return (calcerror=ERR_WTF); // never reach




sprintf(items[i],"N%lf",m3);



}


}

    // ^


for(i=1;i<maxitems-1;i++)


{



if(items[i][0]=='O'&&items[i][1]=='^')



{




m1=ERR_CODENUM;




for(k=i-1;k>=0;k--)




{





if(items[k][0]=='W')






continue;





if(items[k][0]=='N')





{






m1=atof(&(items[k][1]));






items[k][0]='W';






items[k][1]='\0';






break;





}





else if(items[k][0]=='V')





{






m1=GetVar(&(items[k][1]));






items[k][0]='W';






items[k][1]='\0';






break;





}





else






return (calcerror=ERR_XLEFTNUM);




}




if(m1==ERR_CODENUM)





return (calcerror=ERR_NOLEFTNUM);




m2=ERR_CODENUM;




for(k=i+1;k<maxitems;k++)




{





if(items[k][0]=='W')






continue;





if(items[k][0]=='N')





{






m2=atof(&(items[k][1]));






items[k][0]='W';






items[k][1]='\0';






break;





}





else if(items[k][0]=='V')





{






m2=GetVar(&(items[k][1]));






items[k][0]='W';






items[k][1]='\0';






break;





}





else






return (calcerror=ERR_XRIGHTNUM);




}




if(m2==ERR_CODENUM)





return (calcerror=ERR_NORIGHTNUM);




m3=pow(m1,m2);




sprintf(items[i],"N%lf",m3);




items[i-1][0]='W';




items[i-1][1]='\0';




items[i+1][0]='W';




items[i+1][1]='\0';




i++;



}


}

    // * / %


for(i=1;i<maxitems-1;i++)


{



if((items[i][0]=='O')&&(items[i][1]=='*' || items[i][1]=='/' || items[i][1]=='%'))



{




m1=ERR_CODENUM;




for(k=i-1;k>=0;k--)




{





if(items[k][0]=='W')






continue;





if(items[k][0]=='N')





{






m1=atof(&(items[k][1]));






items[k][0]='W';






items[k][1]='\0';






break;





}





else if(items[k][0]=='V')





{






m1=GetVar(&(items[k][1]));






items[k][0]='W';






items[k][1]='\0';






break;





}





else






return (calcerror=ERR_XLEFTNUM);




}




if(m1==ERR_CODENUM)





return (calcerror=ERR_NOLEFTNUM);




m2=ERR_CODENUM;




for(k=i+1;k<maxitems;k++)




{





if(items[k][0]=='W')






continue;





if(items[k][0]=='N')





{






m2=atof(&(items[k][1]));






items[k][0]='W';






items[k][1]='\0';






break;





}





else if(items[k][0]=='V')





{






m2=GetVar(&(items[k][1]));






items[k][0]='W';






items[k][1]='\0';






break;





}





else






return (calcerror=ERR_XRIGHTNUM);




}




if(m2==ERR_CODENUM)





return (calcerror=ERR_NORIGHTNUM);




if(items[i][1]=='*')





m3=m1*m2;




else if(items[i][1]=='/')





m3=m1/m2;




else if(items[i][1]=='%')





m3=(double)((int)m1%(int)m2);




else m3=ERR_WTF; // never reach




sprintf(items[i],"N%lf",m3);




items[i-1][0]='W';




items[i-1][1]='\0';




items[i+1][0]='W';




items[i+1][1]='\0';




i++;



}


}

    // + -


m1=0;


op=1;


for(i=0;i<maxitems;i++)


{



if(items[i][0]=='W')




continue;



if(items[i][0]=='N'&&op==0)




return (calcerror=ERR_NUMINOP);



if(items[i][0]=='V'&&op==0)




return (calcerror=ERR_VARINOP);



if(items[i][0]=='O'&&op!=0)




return (calcerror=ERR_OPINNUM);



if(items[i][0]=='N')



{




m2=atof(&(items[i][1]));




m3=m1+op*m2;




m1=m3;




op=0;



}



else if(items[i][0]=='V')



{




m2=GetVar(&(items[i][1]));




m3=m1+op*m2;




m1=m3;




op=0;



}



else if(items[i][0]=='O')




op=items[i][1]=='+'?1:(-1);



else




return (calcerror=ERR_WTF+2000); // never reach


}


if(op)



return (calcerror=ERR_NORIGHTNUM);


return m1;

}

int GetItem(char *str,int pos,char *cel)

{


int i,j;


char dummy[100];


if((str[pos]>='0' && str[pos]<='9')||str[pos]=='.')             //szam, tizedespont


{



for(i=pos,j=0;i<(int)strlen(str);i++,j++)



{




if(!((str[i]>='0' && str[i]<='9')||str[i]=='.'))





break;




cel[j+1]=str[i];



}



cel[0]='N';



cel[j+1]='\0';



return j;



}//positive number


else if(str[pos]=='-'&&                                                         //negativ elojel es nem operator, ha:




(pos==0 ||                                                              //a string elejen all




str[pos-1]=='('||str[pos-1]=='['||str[pos-1]=='<'||str[pos-1]=='{'||                     //epp megnyilt egy zarojel




str[pos-1]=='+'||str[pos-1]=='-'||str[pos-1]=='*'||str[pos-1]=='/'||str[pos-1]=='%'||str[pos-1]=='^'|| //muvelet utan kozvetlen




str[pos-1]==' '||str[pos-1]=='\t'||str[pos-1]=='\r'||str[pos-1]=='\n'   //whitespace utan

        )&&(str[pos+1]>='0' && str[pos+1]<='9'))                                            //es szam koveti!


{



for(i=pos+1,j=1;i<(int)strlen(str);i++,j++)



{




if(!((str[i]>='0' && str[i]<='9')||str[i]=='.'))





break;




cel[j+1]=str[i];

//


cel[j+1]=str[i]==','?'.':str[i];



}



cel[0]='N';



cel[1]='-';



cel[j+1]='\0';



return j;



}//negative number


else if(str[pos]=='+' || str[pos]=='-' || str[pos]=='*' || str[pos]=='/' || str[pos]=='%' || str[pos]=='^')


{



cel[0]='O';



cel[1]=str[pos];



cel[2]='\0';



return 1;


}//operator


else if((str[pos]>='a' && str[pos]<='z')||(str[pos]>='A' && str[pos]<='Z'))


{



for(i=pos,j=0;i<(int)strlen(str);i++,j++)



{




if(!((str[i]>='a' && str[i]<='z')||(str[i]>='A' && str[i]<='Z')||(str[i]>='0' && str[i]<='9')))





break;




cel[j+1]=str[i];



}



cel[0]='_';



cel[j+1]='\0';



if(!strcmp(cel,"_abs"))




cel[0]='F';



else if(!strcmp(cel,"_abs"))




cel[0]='F';



else if(!strcmp(cel,"_sin"))




cel[0]='F';



else if(!strcmp(cel,"_cos"))




cel[0]='F';



else if(!strcmp(cel,"_asin"))




cel[0]='F';



else if(!strcmp(cel,"_acos"))




cel[0]='F';



else if(!strcmp(cel,"_tan"))




cel[0]='F';



else if(!strcmp(cel,"_atan"))




cel[0]='F';



else if(!strcmp(cel,"_exp"))




cel[0]='F';



else if(!strcmp(cel,"_log"))




cel[0]='F';



else if(!strcmp(cel,"_log10"))




cel[0]='F';



else if(!strcmp(cel,"_log2"))




cel[0]='F';

// predefined variables



else if(!strcmp(cel,"_pi"))




sprintf(cel,"N%lf",3.14159265358979323846);



else if(!strcmp(cel,"_e"))




sprintf(cel,"N%lf",2.71828182845904523536);



else if(!strcmp(cel,"_hhg"))




sprintf(cel,"N%lf",42.0);

// mic variables



else if(!strcmp(cel,"_PanX"))




sprintf(cel,"N%d",GetPanx());



else if(!strcmp(cel,"_PanY"))




sprintf(cel,"N%d",GetPany());



else if(!strcmp(cel,"_Zoom"))




sprintf(cel,"N%lf",GetZoom());



else if(!strcmp(cel,"_AcqTime"))




sprintf(cel,"N%lf",ReadTime());

// prg variables



else if(!strcmp(cel,"_Tile"))




sprintf(cel,"N%d",currtile);



else if(!strcmp(cel,"_TileUnit"))




sprintf(cel,"N%d",panunit);



else if(!strcmp(cel,"_Jumps"))




sprintf(cel,"N%d",countgoto);



else if(!strcmp(cel,"_MaxJumps"))




sprintf(cel,"N%d",maxgoto);



else if(!strcmp(cel,"_RunTime"))




sprintf(cel,"N%d",GetTickCount()-startms);



else if(!strcmp(cel,"_MCmeasure1"))




sprintf(cel,"N%d",McMeasure(1));



else if(!strcmp(cel,"_MCmeasure2"))




sprintf(cel,"N%d",McMeasure(2));



else if(!strcmp(cel,"_MCmeasure3"))




sprintf(cel,"N%d",McMeasure(3));



else if(!strcmp(cel,"_MCinp1"))




sprintf(cel,"N%d",McInp(1));



else if(!strcmp(cel,"_MCinp2"))




sprintf(cel,"N%d",McInp(2));



else if(!strcmp(cel,"_MCinp3"))




sprintf(cel,"N%d",McInp(3));



else




cel[0]='V';



return j;



}//variable or function or constant starting with letter


else if(str[pos]=='\t'||str[pos]=='\r' || str[pos]=='\n') // nem lehet space


{



for(i=pos,j=0;i<(int)strlen(str);i++,j++)



{




if(!(str[i]=='\t'||str[pos]=='\r' || str[pos]=='\n'))





break;



}



cel[0]='W';



cel[1]='\0';



return j;


}//whitespace


else if(str[pos]=='('||str[pos]=='['||str[pos]=='<'||str[pos]=='{')


{



int bracket=0;



for(i=pos,j=0;i<(int)strlen(str);i++,j++)



{




if(str[i]=='(' || str[i]=='['|| str[i]=='<'|| str[i]=='{')





bracket++; //beleszamolja az elsot is




if(str[i]==')' || str[i]==']'|| str[i]=='>'|| str[i]=='}')





bracket--;




if((str[i]==')' || str[i]==']'|| str[i]=='>'|| str[i]=='}')&&bracket==0 )





break;



}



if(bracket!=0)



{




cel[0]='B';




cel[1]=str[pos];




cel[2]='\0';




return 1;



}



strncpy(dummy, &(str[pos+1]), j-1); 



sprintf(cel,"N%lf",Calc(dummy));



return j+1;


}// bracket 


else if(str[pos]==')'||str[pos]==']'||str[pos]=='>'||str[pos]=='}')


{



cel[0]='B';



cel[1]=str[pos];



cel[2]='\0';



return 1;


}// orphan opening bracket


else if(str[pos]=='=')


{



strncpy(dummy, &(str[pos+1]), strlen(str)-pos-1); 



sprintf(cel,"L%lf",Calc(dummy));



return strlen(str)-pos; //igazabol mindegy, barmi nagy szam megteszi...


}// let


else


{



cel[0]='U';



cel[1]=str[pos];



cel[2]='\0';



return 1;


}

}

double GetVar(char *name)

{


int i;


for(i=0;i<100;i++)


{



if(strlen(varname[i])==0)




break;



if(strcmp(varname[i],name)==0)




return varval[i];


}


return 0;

}

double SetVar(char *name, double var)

{


int i;


char dummy[100];


if(strcmp("MCout1",name)==0)



SetTrig(1,var);


else if(strcmp("MCout2",name)==0)



SetTrig(2,var);


else if(strcmp("MCout3",name)==0)



SetTrig(3,var);


else


{


for(i=0;i<100;i++)


{



if(strcmp(varname[i],name)==0)




break;



if(strlen(varname[i])==0) // megneztem mindenkit, de nem talaltam




break;


}


strcpy(varname[i],name); // vagy megtalalta, vagy lefutott a ciklus :-)


varval[i]=var;


sprintf(dummy," - %s = %.2lf",name,var);


PrintLogEx(PL_I_CALC,dummy);


}

    return -1;

}

int TranslateError(int error, char *string)

{






switch (error)






{







case 0:








sprintf(string,"OK");








break;







case ERR_UNKNOWN:








sprintf(string,"Unknown input object");








break;







case ERR_BRACKET:








sprintf(string,"Bad bracketing");








break;







case ERR_FNXRIGHTNUM:








sprintf(string,"Unknown object1");








break;







case ERR_XRIGHTNUM:








sprintf(string,"Unknown object2");








break;







case ERR_XLEFTNUM:








sprintf(string,"Unknown object3");








break;







case ERR_FNNORIGHTNUM:








sprintf(string,"No number for fn");








break;







case ERR_NOLEFTNUM:








sprintf(string,"No number for operator L*");








break;







case ERR_NORIGHTNUM:








sprintf(string,"No number for operator R*");








break;







case ERR_OPINNUM:








sprintf(string,"No number for operator OiN+-");








break;







case ERR_NUMINOP:








sprintf(string,"Double numbers NiO");








break;







case ERR_VARINOP:








sprintf(string,"Double numbers ViO");








break;







case ERR_NOTLEFTVALUE:








sprintf(string,"Not a lvalue");








break;







case ERR_WTF:








sprintf(string,"Unknown fatal error");








break;







default:








sprintf(string,"Some error %d",error);








break;






}


return error;

}

